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*  Answerall the questions in I*arl A on this paperiisel. H
s Eachgueslionin Part Acarries 2 marks. (2 x 20=40)

T P

(01)  Findthedighalrootoef3146

A=12,3,57, 11,13}
Write down the set A in lerins of a comumon property of its elements by which Lhe elemenis can be
¢learly identified.

Select and write down 1wo numbers which are divisible by 6 withouta reminder.
348,496,288, 1024

Wiite3x3 23> X x X inindexfonn,

-
Express 2 ﬁ asadecimal number.

(06) Nameanacuie angle and an obluse angle seen in the figure.

b
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Dinithi's date of birthis 2005-05-22. What is herage on 2017-11-20

Simplily. 17+ 10 x4

Rewrite the numbers inorder nsing the sign > 7,.0,3, 0.1

In a map dravwn 1 @ 500, the distance represented the road AB is 10cm. Find the actuai distance of the
road AB innetres.

Simplify. (-2.57)+(+1 l-34j

Show thal the pyramid given satislies the Euler's relation.

Express 3500mlin litres and milililres,

Fill in the blanks in 1he flow diagram given below.
X Ix J.ra.'i;

1y Y -

The box'A’ conrains items of mass 30kg 350 whiie the box 'B' conlains items of mass 40kg 750¢. Find
the tolal inass ol the items in both boxes.
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Measurs thé angle ABC and write its magnitude,

(17)  Anropeoflength 20m:16cm ja cut into 3 loget 3 equal picces. What s the length of one piece.

(iB)  The volume of a cuboid is 120cm’. If the length is Ocm, find a set of suirable values for breadth and
height.

number indicated by the arrow head is observed. Write the set of all oulcomes of this

A circular dise is made to rotate around its centre. When the disc stops rotating the
2 -
% experiment.

3

WharkInd of tessellation is seen in the figurs,
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(05) (a) (i) Write 24 and 36 as a product of prime faclors and write the answer in index form. Using the
answer obtained i (i) orusing pny olher method answer to the question beiow. (3 marks)
{ii) There are 24 pens and 36 pencils in a box, it is needed to pack them inlo parcels such that there
must be an equal aumber of pens and an equal number of pencils in each parcel. There is no any
peo or any peneil remaining, after packing tbem in parceis, Find the maximum number of
percels that¢an be prepared under the condition mentioned above.
(2 marks)
{iis) Two beils ring at inlervals of 24 minutes and 36 minutes respectively. 1Fthey bath rang together
al 8.00 am, at whet time will they ring together again. (3 marks)
{i) Lf the perimeter of the triangle denotes by 'P', construct a
formule for'P'. (] mark)
{ii} Find P, lakingx=6 andy=7 (2 marks)

}l-
(06) The following information is about the number of students who participated for the maths - olympaid
competitive exam.

Sinhala Tamil English
Modium Medium Medium

Boys 50 25 15

Giris 30 15 15

(i} Whatisthcnumber of boys participared for the exam. (2 marks)
(i) Findihe numberof girls participated [or he cxam asa percentage. (2 marks)
{i1i} Represent the informalion by a suitabie awltiple column greph. {5marks)
(iv) [F 60 srudents in sinhala medium, 20 stndents in tamil medlvin and 10 sudents in English medium
are selected inthe competetive exam,
Find the number of studentts who are not selected in the exam, {2 marks)

B C

A
al 2 1
_4111 lsm 33m

A,Band Care 3 pieees cut from a wire. Tbe lengths of them are shown above, (the pieces sre not drawn to
ascale)

(i) Amangethe lengths in ascending order. (2 marks)
Gi) Findthelolal tength of the piecesAand B. (2 marks)
(iii} Find the differsnce between the maximum iength and the minimum icngth. (2 marks)
(b) Acementmisture is made with cementand sand tothe ratio 1:6. There are 5 pans in one packetof

cement,
(i} Find theamoun ofsand needed to make a cementmisture with one packerofcement. (2 marks)

(ii) Aconcrere misware is made with cemenr, sand-and metals, so the ratio 1 : 2 ; 3, How many packets of

cemnent are needed wo make |50 pans of the concrele misture. (3 marks)
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